Eif=d|

nwn

Al

LEs>
2T =inthe class /

BAEW

SEEMD = teacher + DY <subject particle> /

(F7
#FHLUT WX, =be talking now
373

*5&H U £ 9 g1 =talk, speak
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

The teacher is speaking in the class.

—T—E = student + & <topic particle> /

ﬁ%% = lesson + % <direct-object particle> /

F%/vfi ﬁ% = when (X) rested

* KA TZ = rested = <plain-style-past-affirmative> of /A& & 9 g1 (rest, have a break, take

a day off, be absent)

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes
‘no’.)] & & =when (X) do (did, is doing, was doing, etc) ~ /

ED &K SIT =in what way, how /

L <ren

fE8&8% = homework + %Z <direct-object particle>

M<ITh

#=2 L £ 9 = confirm, check, verify /

H\ <question particle> //

When the students have missed the lesson, how do they check (confirm) their homework?

8 P"”

ﬁ%’éﬁ T7l<?£} & ?S . =when (X) miss this lesson
* 17|< = <plain-style-nonpast-affirmative> of k& £ 9" g1 (rest,

AREE=)

Z@“ = without fail, necessarily, without exception /
[

EJOJ H F TICT = by the previous day /

nhs<

EH&E LT <& L\, =please contact
* Ei& U £9 g3 = contact, get in touch //

2L S

Well, when you miss this lesson, please inform me by the previous say without fail.



X—)LTT%H =even an email
WWTI D, =Isit OK?

Is is OK for me to inform you by an email?

M:
(UL, WWTY =Yes, it is OK.
&Ko =...., you know? ; ..... | tell you. ; ....., | am convinced. //

3. =Ah! (expression of surprise, recollection, etc.), Oh!/

ZhhH 5. = after that, and then /

At &=, = when (X) rested

* KA TZ = rested = <plain-style-past-affirmative> of k& £ 9 g1 (rest, have a break, take

a day off, be absent)

* [plain style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes
‘no’.)] & =when (X) do (did, is doing, was doing, etc) ~ /

%ﬁ\d) ‘%’fﬁi@ HGUJ 1%/12\ = the notice (bulletin) which is in front of my office

* Iff3T = = laboratory, room or building fitted with equipment for scientific experimentation;
professor's office /

%’C\ =RB¥J, £LT. =seeand...

* B9 sg2 = see, watch, look

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.
And it is sometimes used to show reason as well. /

L 2L

fERE% = homework + % <direct-object particle> /
h<Ich

SR LT < £\, =please confirm
* 52 U £ 9 g3 = confirm, check, verify //

When you miss the lesson, please look at the notice which is in front of my office and
check your homework.

Zii_h_ = friend + [C <recipient particle> /
=

i
=

\/z D = ask and do other things as well



* [ta-form] D [ta-form] D U &9 =do ~, do ~ and do other things as well, do many
things such as doing ~ and doing ~

L7&WT, = without doing

* [nai-form 2L\ — 72 WT] = O [nai-form 7L\ — 9 (IT)] = without doing ~

Y LIEWT =879 (I2), not LT (I2)

* [nai-form &L\ — 72 < T] = A [nai-form 2L\ — 9 (IZ)] = don’t do ~ and .... <used to
join sentences>/ don’t do ~ and therefore <used to show a reason>

Y ULBWT =879 (IZ), not LT (IC) /

— without asking your friend or doing the thing like that /

bﬁzﬁj/{’t = by oneself /

%ﬁbi)\&bf =fEMNDHEI, £LT. =confirmand ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~".

And it is sometimes used to show reason as well.
5 » A & = properly, perfectly, correctly, exactly /

P> T ET L f2&\L) = please do and come here
*DFXI =1do 2 (superior) give (inferior)
* [te-form] X9 = 1. go there to do .... and will be back 2. start to do, begin to do 3.

(with the past tense,) have been doing ... so far
o =....,isntit?; ....., am | right? <confirmation particle> //

Please check it by yourself, do it by yourself and come here without asking your friend or
doing the thing like that.

[\, =Yes. ; OK.//

M:

ZhhH 5. = after that, and then /

E &5 PY O

SH KA T A. =the person who is absent today

* KA TZ = rested = <plain-style-past-affirmative> of k& £ 9 g1 (rest, have a break, take

a day off, be absent)
)2 EATY =(X)is MrLin/

R, =..,isntit?; ..... , am | right? <confirmation particle> /
) > & Al = MrLin + (& <topic particle> /

Z®d Z & =this thing, this matter /

’;EI N EXHA =don’t know /

M5, =because ~/

fefuhs = someone /



Dfc

EZT B WT <NFT = (X) convey beforehand and (X) give me a favor
*{=zZ £ 9 g2 = convey, transmit; report, communicate; propagate; tell; bequeath, hand

down
* [te-form] & E F 9 = 1 do ~ beforehand (in advance) 2 do ~ for future convenience

3leave ~ asitis/
M <question particle> //

And regarding the person who is absent today, Mr Lin, Mr Lin doesn’t know this thing, so
can anyone tell him? (lit: does anyone tell him for future convenience and give me a
favor?)

F:

». =Ah,/
bzl

*A\ = I /

') > & A IZ = Mr Lin + [T <recipient particle> /

ofc

AT HZXT, =convey before hand

*{=zZ £ 9 g2 = convey, transmit; report, communicate; propagate; tell; bequeath, hand

down
* [te-form] & & X9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience

3 leave ~ asitis //

Ah, | will tell Mr Lin for future convenience.

BR b&>S

FEUETY Hh5, =because (X) is the same dormitory. //

Because we stay at the same dormitory.

M:

U . =then, if that is the case
nn

K FEWN UEXYI, =pleasedoit. //

TAEW

=
SEHEIC X—)L T E < = (The students) ask their teacher by an email.
* B < = <plain-style-nonpast-affirmative> of El& &9 g1 =1 listen, hear 2 ask/



2
ZVTL X—JLT F'Eﬁ < = (The students) ask their friends by an email.
* [ < = <plain-style-nonpast-affirmative> of Bl = &£ 9 g1 =1 listen, hear 2 ask/

U/\%@obo i WU

AR E=D FID BR%Z E% (The students) look at the notice which is in front of the

professor's office
*IffZT= = laboratory, room or building fitted with equipment for scientific experimentation;

professor's office
* B % = <plain-style-nonpast-affirmative> of R &9 sg2 = see, watch, look /

D&>  FZX 3 WU

BD D BR%Z %5 (The students) look at the notice which is in front of their

dormitory.
* B % = <plain-style-nonpast-affirmative> of & &9 sg2 = see, watch, look /

ML e

2%t T = at the company /

BAIE V& KT V& . . . .
ZDANE BEDAD =the woman and the man + H' <subject particle> /
(F7

LT WX, =be talking now

*5H U £ 9 g1 =speak, talk

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

At the company, the woman and the man are talking together.

BARR V&

ZD A& = the woman + & <topic particle> /
Zh M5 = after this /

%% = what + %Z <direct-object particle> /
LE9 =do/

H\ <question particle> //

What does the woman do after this conversation?



TAEWN
#. = senior (at work or school), superior, elder, older graduate, progenitor, old-timer /

5“%@5

B, = next week /

@)L\ﬁ%\bwvsc:B . . .

B4, iR = a business trip to a foreign country
* B4} = foreign, abroad, overseas /

7% A TY =[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to .

H. =1but 2 <used to show a hesitation>

%LC = particularly, especially /

LT W IED A WL Z & =the thing which (X) had better do beforehand

*LT EW [EFD A LW = <plain-style-nonpast-affirmative> of LT &L\ (&5 HY LiL)
T9 = had better do beforehand

*UZEI g3=do

* [te-form] & E F 9 = 1 do ~ beforehand (in advance) 2 do ~ for future convenience
3 leave ~ asitis

* [ta-form] (E 5 A LWL\ T = had better do ~

2T, =& WD D & = the thing called ~ + (& <topic particle>

+ (X) EWWD (Y) =(Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement

the contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)
* We often use ~ 2T or ~ & L\ D [& to indicates the thing which we don’t know

about much before asking a question.
* We also often use ~ > 7T or ~ & L\ 5 DI to make the topic (what you are going to talk

about) very clear. /
$»H D £ g1 =there is ~, have, exist /

M <question particle> //

Sir, | am going overseas on a business trip next week, so is there the thing which | had
better do beforehand in particular?

M:
hwnE Lb&>

220 ERlL. = materials for the meeting + & <topic particle> /
U Al

HEFTET % = EFTET W3 = <plain-style-nonpast-affirmative> of #fET=T WE T
= be ready now



* ¥ TE £ 9 = can prepare, be able to prepare = potential-verb of #f& L £ 9 g3

(prepare)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{{na-adjective / noun]
da’ becomes ‘na’.)] A TY ' =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to @. /

& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /
o =....,isntit? ; ....., am | right? <confirmation particle> /

The materials for the meeting are ready, right?

M:
Stt® /X7 Ly b, =pamphlet of a company /

¥F > /= = held = <plain-style-past-affirmative> of %5 £ 9 g1 (hold, carry, possess)
?

Did you carry the pamphlet of the company?
(Did you put the pamphlet of the company in your bag?)
(Did you prepare the pamphlet of the company?)

3. =Ah! (expression of surprise, recollection, etc.), Oh!/
%3 12, = <plain-style-nonpast-affirmative> of &> T9 = (X) is so //

Oh, you are right.

S2oMD UT EUTco =200 LT WXL = (X) was being careless
* 5 > M D = carelessly, heedlessly; negligently, thoughtlessly; inadvertently



* LT WZE U7 =was doing
*LEI g3=do
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

| was careless about it.

g-h &. =and then, even so, and /

%:%lﬂ I& = business card + (& <topic particle> /

g&b IC = somewhat larger quantity, larger portion + (C <added to make an adverb from a
na-adjective>

?% > T Wo /o [E5 AY LW = <plain-style-nonpast-affirmative> of > T Wo 7z (F5 A
LWWL\TY = had better take, had better carry (a thing) away

* > T Lo fz = <plain-style-past-affirmative> of > T WE £ 9 g1 (take, carry (a thing)

away
* [ta-form] (&5 A LWUWWT T = had better do ~ /
&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

And you had better take a lot of your business cards.

FZ

HlC = before, ago, previously /

Tc

BDRZL13oT, =8b7&a< 7&>7ce £ULT. =reached the point where (X) is not

enough and ....
* B D75 < 72>z = reached the point where (X) is not enough = <plain-style-past-

affirmative> of 8 D 7& < 7& D £ 9 (reacher the point where (X) is not enough)
fc
* B D75\ = (X) is not enough = <plain-style-nonpast-negative> of & D £9 sg2 (be

sufficient, be enough) /
* [dictionary-form] & 3 IC 7& D £ 9 = reach the point where (X) do ~

* [nai-form 7%\ — 72 <] 7& D £9 = reach the point where (X) don’t do ~
Hbo
HHTT =Tl #ULT, =was flurried and ....
Hb
* {7z = was flurried = <plain-style-past-affirmative> of it %9 g1 (be flurried, lose

one’s presence of mind, get flustered, panic
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.

And it is sometimes used to show reason as well.
* it T T = hastily, hurriedly, quickly; perplexedly; in a panic
o

M > T =over there, beyond, opposite direction, the other party + T <particle which
shows the place where the action takes place.>/



JdE—Uf 2 & h' %5 = <plain-style-nonpast-affirmative> of IE— U7 2 & N H O X
9 = have ever photocopied before

* JE— U Jz = <plain-style-past-affirmative> of JE— L £ 9 g3 (copy, photocopy)

* [ta-from] Z & HY & D ¥J = have ever done ~ before /

M5, =because ~ //

Because | had an experience before that my business cards were not enough and
photocopied them there (in a foreign country) in a panic.

3. = Ah! (expression of surprise, recollection, etc.), Oh!/
Z 1 & =that + (& <topic particle> /

bl

6 =1+ (also) /

ws &
—& =once /
Lo iEWn

KB UTe 2 & H %3 = <plain-style-nonpast-affirmative> of KB U7z & N HDFT

have ever failed before
* KRB U e = <plain-style-past-affirmative> of < U & 9 g3 (fail, be unsuccessful)

* [ta-form] Z & Y % D £9 = have ever done ~ before /

DT, =|[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because
* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style
to be more formal. /

%\Mlj\ﬁl\ti = this time + |& <topic particle> /

&> 5 D = perfectly, properly, right on the mark, a sure thing /

T9, =is (are, am, etc) //

Ah, regarding that, | have ever failed before, so | have prepared it perfectly this time.

M:

% &. = and, the other thing which | want to mention is ~

ThALUU&

B F##E (4 = electronic dictionary + |& <topic particle>

kS)

> T o = > T L/ = was holding = <plain-style-past-affirmative> of > T WX

(be holding now, have)
*# 5 %9 g1 =hold, carry, possess

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /

o =....,isntit? ; ....., am | right? <confirmation particle> /



And you have an electronic dictionary, right?

WU &5

IEW, KK TI, = Yes, itis all right.

NC =k

D &
,éf* E{}_@“% (The woman) prepares the materials.

* #{g 9 % = <plain-style-nonpast-affirmative> of #fi L &9 g3 = prepare /

2
£S5 W0
N> 7w h%Z BRY % = (The woman) prepare the pamphlet.
* FHE 9 % = <plain-style-nonpast-affirmative> of FIE L £ 9 g3 = prepare, make ready /
3
®H WL EpS>bh

%R % ;£ 9 % = (The woman) orders her business cards.
*3EX 9 % = <plain-style-nonpast-affirmative> of ;£ U £ 9 g3 = order, request /

A
&
C
HC
C
9

BTHEZ B EO (The woman) buy an electronic dictionary.
B S = <plain-style-nonpast-affirmative> of E\L\EX 9 g1 = buy /

2V BAR HLKEV BET HKEL 1373

RETRZDZEEE BOFAMN FELT WX, =Atthe university, the female and male
students are talking together.

< WL & ey

%:0)—"?1%01 H—%)J iz ULRFNIE &b £t A D = What must the male student do at

BOPY B>

E{R#&H. =during a summer holiday /



+ X = seminar, educational meeting devoted to a particular topic; advanced academic

course requiring a large amount of independent research; meeting of an advanced
academic course which requires a large amount of independent research /

72 \\ = there is not ~ = <plain-style-nonpast-negative> of % D £ 9 g1 (there is ~, have,
exist) /

7&E. =1but 2 <used to show a hesitation> /

?%@ D %F;\ﬁk = during a holiday /

H =also/

§UI %ﬁj\%% = without a break, in succession

* 5| ZHE XTI g1 = continue, go on, keep doing something; occur in succession /

Ei >T=8%%, LT, =gatherand ....

* E£% % = <plain-style-nonpast-affirmative> of £% D £ 9 g1 (gather, assemble, collect)
* * te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing
:/:gﬁnd it is sometimes used to show reason as well. /

%58 U 72 L\ ? = Why don’t we study? ; Shall we study?
* The negative question particle is sometimes used to show an invitation. //

There is no seminar during a summer holiday, but how about gathering without a break
and studying together during a holiday?

BAEW

J54E (3 = teacher (professor) + & <topic particle> /

th:':'SFE;EC“ = because of a business trip /

W5 5 L ¥ 5704\ = <plain-style-nonpast-affirmative> of L\ 5 > U » W &K 9 = special-
deferential-verb of L\& 9 sg2 (stay), 1%% 9 g1 (go) and %i? g3 (come) /

M5, =because ~

A y1)) %27‘:“ |7 = only the students of a seminar /

</

B hRh

X % = thesis, research paper written by a candidate for an academic degree, treatise,
essay, paper + %z <direct-object particle> /

E%/w‘i D =read ~ and do other things as well

* FtATZ = <plain-style-past-affirmative> of Htd* £ 9 g1 (read)

* [ta-form] D [ta-form] D U X9 =do ~, do ~ and do other things as well, do many
things such as doing ~ and doing ~

ULEU&e =UFUL&LD =let'sdo

* part of ‘[ta-form] D [ta-form] D U ¥’ (do ~, do ~ and do other things as well, do

many things such as doing ~ and doing ~) //



Our professor is not around here because of a business trip, so let us (only students of a
seminar) read theses and do other things as well.

M:
IEUL =yes/
B0 = certainly, without fail //

HHATE B =everybody + B (also) /

© D 72\ = <plain-style-nonpast-affirmative> of D 7L\ T39 = want to do

*PNDFEI =1do 2 (superior) give (inferior)

* [masu-form] 72\L\T9 = want to do ~ /

> T = & <quotation particle> /

%’DT FUlfco = H>7T WXL =was saying

*EWVWEXT g1 =say

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Everybody also said that they wanted to do so.

Ao &L let me see, , let me think, well, errr .../
B hRA

3| = thesis + (& <topic particle> /
ES ULXLU & 5D =what shall we do?

Err, what shall we do about theses?

F:
£, = first of all, firstly, first /
TALYS AW L&5Hh0

5 hRh
5oB FEI BN LT EE o1z §X % = the thesis which the teacher introduced (and

gave me a favor)
*HAN LT < f2& o 72 = (My superior) introduced and gave me a favor = <plain-style-past-

affirmative> of #3871 L T < 72& WX T = (My superior) introduce and gave me a fovor
*#BN UL £ 9 g3 =introduce

* [te-form] < 72 & W& 9 = (My superior) do ~ and gave me a favor. ; My superior gives
me a favor. The favor is ‘doing ~’. /

E%Jii U & Do =let'sread. /



Firstly, let’s read the thesis which our professor introduced us.

1 T = with that/
WW a5, =if (X) is good
* 185 = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 7& 5 = if ~

<supposition> <lIt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.>/

P =1/

H > =already /

?%9 T % = > 7T L\% = <plain-style-nonpast-affirmative> of > T LWE 3 = be holding

now, have

*# 5 %9 g1 =hold, carry, possess

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
M5, =because ~

Wl &£53

ALK, = <plain-style-nonpast-affirmative> of XXX TT = (X) is all right (O.K., fine,
good) //

If you are O.K. with that, | am O.K. because | already have it.

I\:AI.L:"— L7z D =photocopy and do other things as well

* J E— U Jz = <plain-style-past-affirmative> of JE— L £ 9 g3 (copy, photocopy)

* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many
things such as doing ~ and doing ~ /

9 % D =to do, doing

* 9 % = <plain-style-nonpast-affirmative> of U &9 g3 =do

* part of ‘[ta-form] D [ta-form] D U ¥ 9’ =do ~, do ~ and do other things as well, do
many things such as doing ~ and doing ~

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /

I& <topic particle> /
1<

E=1/
PhHEXY, =1do 2 (superior) give (inferior) //

Regarding photocopying and doing other things like that, | will do it.



JE—I4 = photocopying + (& <topic particle> /

Lj\yg{b“ = the number of people /

RE > T 5 = after being decided

*RZE D £ g1 =be decided, be settled

* [te-form] H 5 = after doing ~ /

T L\ = <plain-style-nonpast-affirmative> of  L\L\T9 = | am O.K. with the situation
that ~/

M5, =because ~/

Zh &K D =apart from that, other than that, leaving that aside, more ... than that, but,
however /

[E>TW &S50

HZD AL T, = HED FAEZ LT =HE%Z FAEL T =please adjust an agenda

(schedule, outline of things to be done)
*FAEE L X9 g3 = adjust

* [te-form] = less polite than ‘[te-form] < 7Z& LV = please do ~ //

It is O.K. with the situation that you photocopy after the number of people is decided, so
apart from that, please adjust the schedule.

M:
o)
W, 2D XU, =0.K. | understood. //

H A 73 IT = everybody + T <recipient particle> /
X—=J]LUT H#FT, =tryto e-malil

*A—=)LULET g3 =e-mall

* [te-form] & E 9 = try to do ~, do ~ and see how //

| try to e-mail everyone.

F:
Sh. £B UK, =0.K. Please tack cafe of the matter. //

¢, =then, if that is the case /

[E>TW

H#Eh' = agenda, schedule, outline of things to be done + /' <subject particle> /
hie L w

E& D XZE. =as soon as (X) harden
*[EE D F£9 g1 = harden solidify, become firm, become certain



LEw
* [masu-form / noun] 235 = as soon as ~ (N2 No.25) /

L5072

=% = classroom + % <direct-object particle> /

ﬁéﬁ?ﬁ LT 8WT H 5 X 35 = <plain-style-nonpast-affirmative> of fEGR LT W T H5 X X
9 = (X) reserve a classroom beforehand and (Y) can receive a favor from (X)

*FE{R U £ 9 g3 = guarantee, vouch for; maintain, preserve; secure

* [te-form] & E X9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience

3 leave ~ asitis/

* [te-form] H 5 X X9 = (X) do ~ and (Y) can receive a favor from (X) = potential-verb of
te-form] H 5 WX T ((X) do ~ and (Y) receive a favor form (X) ; (X) have (Y) do ~)

* [te-form] H 5 2 F 9 H* = can you please do ~?/

/i

As soon as the schedule is fixed, can you please reserve a classroom beforehand?

M:
b
[FW. 2D FE U, =0.K. | understood. //

TAEW 25 =
FHED #E % B < = (The male student) asks the teacher’s (professor’s) circumstances. ;

(The male student) asks the teacher (professor) whether he can make it or not.
* ] < = <plain-style-nonpast-affirmative> of B = £ 9 = 1 listen, hear 3 ask/

2

Y v

X% dE—19 % = (The male student) photocopies a thesis.

* JE—19 % = <plain-style-nonpast-affirmative> of 1 &— U ¥ 3 g3 = photocopy, copy /
3

NRAUE & SHL [ \3 . .

s =D H% R 3 = (The male student) decides the date of the study meeting.

* 3R % = <plain-style-nonpast-affirmative> of ;R £ 9~ g2 = decide, rule, resolve,

conclude, make a decision /

N

EE50D &P L
H=E% F#9 % = (The male student) reserves a classroom.

* $#99 % = <plain-style-nonpast-affirmative> of F#J L £ 9 g3 = reserve /



3%

BEZ TAEL  DpSAELN  h

BokgEs: BZENMNFELT WEY, = The male teacher and the overseas student are
talking together. //

D SHENn

1R
B2 EF cohs M%E Ukl &b £FEAD. = What must the overseas student do
after this conversation? //

BUE Hhi3

O HULT 5ok AE=F > T X M DJREFE = the manuscript of the speech contest

which (X) submitted (and received a favor form (X)) the other day
*HUT H5 o7 =(X) submitted and (Y) received a favor from (X) = <plain-style-

nonpast-affirmative> of H U T £ 5UWLWE 9 ((X) submit and (Y) receive a favor from (Y), (X)

have (Y) submit)
*H U ZF 9 g1 =put out, submit, hand in

*(Y) (& (X) [T [te-form] & 5WLWE T = (X) do ~ and (Y) receive a favor from (X), (Y) have
(X) do ~/

2 = [na-adjective, noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T
9’ =is (are, am) /

|7& =1but 2 <used to show a hesitation> /

o =....,isntit? ; ....., am | right? <confirmation particle> /

Regarding the manuscript of the speech contest which you submitted (and | received a
favor from you) the other day, ....

3. =Ah! (expression of surprise, recollection, etc.), Oh!/
IEWL\, =Oh, yes. //

M:
2 h. =yes, well, /



5Zp> ESS)
Mk SF% fzlc TE S 2 &1 =what (X) can do in order to protect the earth
ES)
* 5f % = <plain-style-nonpast-affirmative> of 5FD & 9" g1 = protect, defend, guard, save

from harm, secure
* [plain-style (but, ‘da’ of ‘{na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes
‘no’.)] fc I = 1 because ~, die to ~ <cause, reason> 2 in order to do ~, for (the

benefit of) ~ <purpose>
* TZ& % = <plain-style-nonpast-affirmative> of T& X9 sg2 =1 cando, be abletodo 2

be ready, be completed, be finished /
2T WD 77—V =& WS 7—Y =the theme which is ~

*(X) EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement

the contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

I& <topic particle>/
FHL>S

M H L\ = <plain-style-nonpast-affirmative> of EIH WL\ T = (X) is interesting /
o =....,isntit? ; ....., am | right? <confirmation particle> /

Well, the theme which is ‘what | can do in oder to protect the earth is interesting.

L&A FWiFA
B0 &ZE&H S =from one’s own experience /

(&7% FU

5L tReH S D =to start to talk, starting to talk

* 55 U A6 B = <plain-style-nonpast-affirmative> of 55 U #A6 &£ 9 = start to talk
* [masu-form] #8 F 9 = start to do ~, begin to do ~

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /
I& <topic particle> /

1R NE DN =1 very, considerably, easily, readily, fairly, quite, highly, rather 2 (not) easily,
(not) readily, be slow (in doing ~), by no means (with negative verb) /

LVLY = <plain-style-nonpast-affirmative> of L\W\T 9 = (X) is good /

{: <quotation particle> /

%5 = <plain-style-nonpast-affirmative> of E\L\EX 9™ = think /

&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

| think that starting to talk from your own experience is fairly good.

F:
HOHES T WVWET, =Thank you very much.



TH. =but/

A E—F (& = speech + (& <topic particle>/

5%;7: > fc = (X) was five minutes

* 12 o = = [na-adjective, noun] /2 o fc = (X) was ~ = <plain-style-past-affirmative> of ‘[na-
adjective, noun] T9’=is (are, am)

& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /

o =....,isntit?; ....., am | right? <confirmation particle> //

But you should end your speech within five minutes, right?

M:
U . =then, if thatis the case /
KIE & = very, greatly, much, to a large extent, quite /

Fw<5

E [T = by means of a fast-talking /

%é 72U\ = don’t speak = <plain-style-nonpast-negative> of 55 L &9 g1 (speak, talk) /
& =... and naturally (consequently) ~ /

&I?Ef: = <plain-style-nonpast-affirmative> of 832 T9 = (X) is impossible

&Ko =....,, you know? ; ..... | tell you. ; ....., | am convinced. //

Then, if you don’t speak very fast, it is impossible (to end your speech within five minutes).

P ED. =as | thought, as | guessed, after all /

i

9 =% = <plain-style-nonpast-affirmative> of £ = £ 9 = (X) is too long

* [masu-form / stem of i-adjective / stem of na-adjective] & £ 9 sg2 = do ~ too much,

too [adjective] /
7%, = <used to convince oneself> //

As | guessed, it is too long.

F:
H. €DTIH, =0h, |see.//



U » 3. =then, if that is the case /

BE
E% BEULT HFRT, =try to rewrite
*ZX BU XTI g1 =rewrite, write again

* [te-form] & E 9 = try to do ~, do ~ and see how //

Then, | try to rewrite.

HDS. =well, errr/

BAIES

Klf\ = grammar /

E{E 72 h* > 7= = had no confidence = <plain-style-past-negative> of E&H* % D £9 g1

(have confidence) /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to @. /

[7&E, =1but 2 <used to show a hesitation> //

Errr, | had no confidence in my grammars.

> h. =yes, well/

%tu = espeC|aIIy, particularly, in particular /

é [ D < F'Eﬁ EL\ = the mistake which is noticeable

*HIc ﬁ( = <plain-style-nonpast-affirmative> of B (C & £ 9 g1 = be noticeable, catch

one’s eye /
I& <topic particle>/

BhoTc TI =H D XRHFATUK =there was not ~

* 1&h > fo = there was not ~ = <plain-style-past-negative> of & % = <plain-style-nonpast-
affirmative> of & D ¥9 g1 (there is ~, have, exist)

* [plain-style-negative] T9 = [polite-style-negative] /

Bo =....,isn’tit?; ..... , am | right? <confirmation particle> //

Well, there was not any mistake which is noticeable in particular.



F db. =you might say /

;Ei LU =alittle /

%%L\ = hard, solid /

%iﬁ% = expression + H (also) /

3 % = <plain-style-nonpast-affirmative> of % D £ 9 g1 (there is ~, have, exist) /
[7E. =1but 2 <used to show a hesitation> /

Z® < 50 (& =this much, this amount + & <topic particle> /

LV = <plain-style-nonpast-affirmative> of \L\W\T 9 = (X) is good /

o =....,isn’tit? ; ....., am | right? <confirmation particle> /

There are the expression which are little stiff (formal), but it is OK to use this degree.

FhZ> FWith A

L&A
Bfgic BA 0 &% AN = (The overseas student) puts her experiences into her

manuscript.
* A5 = <plain-style-nonpast-affirmative> of A11EX 9 g2 = put in, insert /

(373 nhlLp>

[Fv

B 59 &E% 9 % = (The overseas student) practices to speak fast.

* g % = <plain-style-nonpast-affirmative> of L& 9 g3 =do /

3

FAZs  BLn<

[F#e%Z %2 < 9 % = (The overseas students) shortens her manuscript.

* 9 % = <plain-style-nonpast-affirmative> of U &9 g3 =do

* (A) % [stem of i-adjective] < U X T, (A) Z [stem of na-adjective] IC U FJ = make (A)

[adjective]
*(A) %Z [noun] [ UEX 9 =make (A) [noun]/

4
FhZ> V& 5T

Th
FfadD =R %Z ¥ U< 95 =(The overseas student) makes the expressions of her

manuscript easy (gentle).
* (A) Z [stem of i-adjective] < UZX T, (A) Z [stem of na-adjective] (C U E T = make (A)

[adjective]
*(A) %Z [noun] IC U ZF 9 = make (A) [noun] /



47

Z WA hA ?x“é:(?S BARE V&

AREIEED RO T LD AN ﬂ% ZDWT FH?L\’C W& J, =The woman is asking about the
fee at the ticket window of the cinema.

PAN sy L5
D A& 2T W< 5 THWETH, = How much does the woman pay in all?

BEBRXED ZEBHZRD

KAZA. FHEHZ A =two children, two adults /
7% ATTY = ATY =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T
9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to @. /

H. 1but 2 <used to show a hesitation> /

HD. =well, errr/

FTIyhoT=FTv b EWD D & =the thing called ‘ticket’ + |& <topic particle>
*(X) EWWD (Y) =(Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement

the contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)
* We often use ~ > T or ~ & W5 D to indicates the thing which we don’t know about

much before asking a question.
* We also often use ~ > T or ~ & W5 DIZ to make the topic (what you are going to talk

about) very clear.
* 27T = & <quotation particle>

* 5 7C at the end of the sentence is often used to mean, ‘I hear that ~, | heard that ~’,
‘They say that ~, People say that ~’, (X) say that ~’. /
W< 5TI D =How muchis (X)? //

| would like to get the tickets for two adults and two children, so how much?



& E&m
AAD = adult + H¥ <subject particle> /

WsZW # A XA
1 1,000, = one ticket for one thousand yen /
&héuub;a US>z W »

4L E 15 ﬁL,CFd) &B?&Laﬁ = the children who is four years old and above, and

fifteen years old or younger (the children who is between four years old and fifteen years
old) + (& <topic particle> /

RKADHEEIC 72D £J, =become half price of the adult fee
* [stem of i-adjective] < 7% D ¥ ; [na-adjective] IC & D £ = become [adjective]
* [noun] IC 7& D ¥9 =become [noun] //

The adult fare is one ticket for 1,000 yen and the fare of the child who is between four
years old and fifteen years old becomes half price of the adult fee.

U 3. =then, if that is the case /
F o Fi& = the older child + & <topic particle> /
5<EW 520

6 7 = <plain-style-nonpast-affirmative> of 6 % T3 = (X) is six years old /
M5 = because ~

ZOv< Al
500 9 = (X) is five hundred yen /
o =....,isntit?; ....., am | right? <confirmation particle> //

Then, my older child is sox years old, so the fee is five hundred yen.

UTc Z ThEW

TH&S
TOFIE 3 7% DT ERTIH, =Because my younger child is three years old, so is

the fee free?
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because

~~

* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style

to be more formal. //



FATVWH X A FAEVWH T A

4 ﬁﬂiﬁ@zﬁ?ﬁ’c =4 ﬁﬂ%ﬁ@zﬁ?ﬁ’(@% % LT, =(X) is the child who is under four

and ....
* To join the sentence which ends with [i- adjective / na-adjective / noun] 39’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call

them te-form of an adjective and a noun. To join adjectives, we also use te-form of an
adjective. And it is sometimes used to show reason as well. te-form of an adjective and a
noun can be used in either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, ‘[stem of i-adjective] <’ is also used to be more

formal /
?o)ﬁ!;— Z =seat+ %& <d|rect -object particle> /
4_1%%3 ASYANA i Lat\ = when (X) don’t use
SERIC 72570 = don't use = <plain-style-nonpast-negative> of ZfEAIC 72D £
which is the deferential-verb of A U £ 9 g3 (use)
* & [masu-form] IC 72 D £9 g1 = deferential-verb yx We use C instead of &

for some words. /
F7 v N & =ticket + (& <topic particle> /

02&5

MBS WE B Ao =special-humble-verb of E(HY) & D £t A = (X) is not necessary //

When your child is under four and doesn’t use a seat, you don’t need get the ticket.

&5%%} = seat + Z <direct-object particle> /

o) 13%\/\ I 185 i’w_;‘i\ = when (X) use the seat

& EL [T %5 = <plain-style-nonpast-affirmative> of & {#E L\ [T 72D £ 9 which is the
deferential-verb of £L\ & 3 g1 = use

) [masu form] [C 72D £ 9 g1 = deferential-verb /

ZEBHDg

T ﬂ%%’: = child fee + % <direct-object particle> /
Witz Wt
JBEWT &D XY, =special-humble-verb of JTELNT WLW&XF = be receiving now
*JEE X9 g1 = (inferior) receive ~ from (superior)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

When a child uses a seat, we get the child fee from our customer.

02 [Z =on one’s knee /

DET LWnIE =if (X) is placing now

* DE T LWnIE = conditional-form = DT W& 9 (be placing now)

* %ﬁi’é‘ g2 = place on top, load; pack (with goods, cargo, etc.); publish



D
* T X9 g2 = place, take on board, give a ride; impose, record, mention, let take part;

take in, deceit
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

LYY = good
2T Z&ETTI =& WD Z& TY =(X)means ~/
o =....,isn’tit? ; ....., am | right? <confirmation particle> /

You mean that it should ne OK If | place my child on my knee, right?

M:
IELY, £57TY, = Yes, that's right. //

;;‘o & =1 consecutively, throughout, all the way, all the time 2 much [adjective] /

£>Z LT3 D=71>2 LT W3 =to be carrying (a baby in one’s arms), being
carrying (a baby in one’s arms)

5z LT B = <plain-style-nonpast-affirmative> of ¥ > < LT W& = be carrying

(a baby in one’s arms)
*10> Z UEXT =hug, carry a baby in one's arms, carry a pet in one's arms

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /
I& <topic particle>/

& o & =alittle/

2 5L\ = painful, bitter, heart-breaking

M73%, =[[plain-style (‘da’in [na-adjective / noun] da’ must be omitted.)] H\/& = ...... |
wonder? //

Is it a bit hard to carry my child in my arm all the time, | wonder?

E,\ L\ﬁb\ = It is OK. <used to persuade oneself>

‘5183 ﬁf:“ = <plain-style-nonpast-affirmative> of 500 T3 = (X) is five hundred yen /

Uo =|[plain-style] L = ~ and ~, because ~, ~ and what’t more ~, not only ~ but also
~ <often used to list reasons> Y< We can use the polite-style right before L to be more

polite. //

Then, OK, because it is five hundred yen.



Zd)%d) %{B = share (part, segment, ration) of this child + & (also)
£ J%%L\ L &¥J, =please do (it)

* %,%:L\i? = wish

* & [masu-form] U ¥ 9 g3 = humble-verb //

Please give me (let me buy) the ticket of this child as well.

M:
W, DU EDFU. =0K, | understood. //

T AR EE30

Tld. F7 v bE 23T 4TI 1. =Then, thicks will be four in all, right?

F:
IEW\, #N T, = Yes, (please settle) with that. & //

lEEACO» < ZA

2,500 M

2

ShAEA

3,000

3

ThAEA

3,500

4

LFAEA

4,000

ML » BET V& BhiE V& 1373

ST EBEDOAE TDOAD FELT WK, =Inthe company, the man and the woman are
talking together. //



BAIR V&

TOANIT 2D HE £ %% LRI &b £t AN, = What must the woman do after
this conversation? //

b?L [V

FAH®D = %5‘7;)’)?3: D HEAth M Z & =the thing about the business meeting with

Higashi office which will he held tomorrow /
R A TZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{{na-adjective / noun]

da’ becomes ‘na’.)] A TY ' =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to @. /

[7&. =1but 2 <used to show a hesitation> /
1F<

=, = I/

ZD Hut = before that /

~RD -1

AllD =D = another meeting + H' <subject particle> /
(=49 [Z4A

AD2TT =A2TWT=A>T W5, £ULT. =(X)is entering now and ......
* A2 T W3 = <plain-style-nonpast-affirmative> of A>T LWEX 9 = be entering now
*AD X g1 =enter,goin
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>
* *te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing
~. And it is sometimes used to show reason as well. /
73“\ L =allittle /

*L%) ME LN = <plain-style-nonpast-affirmative> of ;2% 6 ULNEEA =

may be late
* BN % = <plain-style-nonpast-affirmative> of d 1 F 9 g2 = to be late, to be delayed, to

fall behind schedule, to be overdue
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 6 LI EX B A =

may do ~, maybe do ~ /

ATZ. = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{{na-adjective / noun]
da’ becomes ‘na’.)] AL T9 ' =

...... , | wonder ;

...... , | doubt ;

..... , | want to draw your attention ;

..... , | want to emphasize ;

..... , | really want to say so ;
because ......



— A can be changed to @. //

| have another meeting before that, so | will be a little late.

Z® &E(d, =atthat time/

%\b\ =bad/

[7E. =1but 2 <used to show a hesitation> /

;‘;LC = beyond, ahead; earlier than, previously, recently, formerly, before /

%%’: = talk, speech /

%&b EWT <NV =EHT BWLWT <74\ = don’t advance and give me a favor
* ¥ E 9 g1 = advance, promote, hasten, further

* [te-form] & E X9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience
3leave ~ asitis

* ~ te o0 ki masu — ~ to kimasu

* ~ de o0 ki masu — ~ do ki masu

* [te-form] <11 &9 = (X) do ~ and give me a favor

* In this sentence, the negative shows an invitation, or an suggestion.
73 = [[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] H\7& = ...... |

wonder?

At that time (= when | am late), | am sorry, but can you start to discuss with them first (in
advance) (and don’t you give me a favor)?

F:
3. =Ah! (expression of surprise, recollection, etc.), Oh!/
Li \J\o = OK //

ES S k)
D HID #HiE M5, = from the continuation of the last meeting
* Z (MHEI = 1 some time ago, recently, lately 2 last (Sunday, etc.), previous
* = = sequel, continuation, (also suffix) continuation (in time and space), second series,

succession, spell /
& WS Z & T =with the fact that ~

*(X) EWD (Y) =(Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement
the contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /



£BULW TU & 5D =more polite than L\LY TU & S A = more polite than LWWTI D

=Is it OK? ; Is it good?
*TU & 2D =][plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] TU &

> h" is more polite than the question which ends the normal polite-style, and is often used

when you question your superior.
* Actually TU & S means ‘1 Probably ....... 2 e , right? //

Is it OK for us with the fact that we start from the continuation of the last meeting?
(Is it OK for us to start from the continuation of the last meeting?)

5-/1.,0 =Yes.; OK.//

X —JLT = by an email /

ULbh&>

& HlHY = material + H% <subject particle> /

e

JEWT fc = JE\WLWT Wi = was arriving = <plain-style-past-affirmative> of WL\ T WX T =

be arriving now
* JBE £ 9 g1 =reach, arrive, get through, get at, be delivered

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
[7E. =1but 2 <used to show a hesitation> /

%LC = especially, particularly, in particular /

;7%%?5% = change point

& h = such as, like, as an example of, like for example /

I& <topic particle> /

72 Hv > Tz = there was not ~ = <plain-style-past-negative> of & D £9 g1 (there is ~,

have, exist) /
& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /

o =....,isntit? ; ....., am | right? <confirmation particle> /

The materials arrived by an email, but there was not any change in it, right?

TH. =but/

%E(%%Li = affirmation, confirmation, declaration that something is true, positive statement;
check + & <topic particle> /

L &WT, =less polite than LT WT < 7Z2& L\ = please do beforehand

*UZEI g3=do



* [te-form] & E F 9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience
3leave ~ asitis

* ~ te o0 ki masu — ~ to kimasu

* ~ de o ki masu — ~ do ki masu

But, please check it.

I;L.\ = What? Really? (used to express surprise) /

%Lé) & 2% =my place + IC <arrival particle> + (& <topic particle> /

A —JL = email /

)%EL\T FEA =EVWT WEEA =Dbe not arriving now

*JBZ £ 9 g1 =reach, arrive, get through, get at, be delivered

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

[7&E, =1but 2 <used to show a hesitation> //

What? The email has not reached me yet.

I\zﬂ_-\ What? Really? (used to express surprise) /

Z> =s0/

& M ? = <plain-style> of ‘[plain-style (but, ‘da’ of ‘{na-adjective / noun] da’ becomes ‘na’.)]
b TIH = ... , | wonder? //

Really? Is that so?

U v 3 =then, if that is the case /

Wz

BVWT=28<, #UT. =hurryand ....

* 2 < = <plain-style-nonpast-affirmative> of 2Z £ 9 g1 = hurry

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.

And it is sometimes used to show reason as well.
* Here & \\T means ‘hurriedly, hastily, in a rush, quickly’. /

&<
X% = <plain-style-nonpast-affirmative> of 3 X0 £ 9 g1 =send /
&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //



Then, | will send it to you quickly.

F:
faht
FEWULZEI, =Please do it for me. //

9< %‘C HEZ=FTJ, =1see itimmediately for future convenience.

* B9 sg2 = see, watch, look

* [te-form] & E X9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience
3leave ~ asitis

* ~ te o ki masu — ~ to kimasu

* ~ de o ki masu — ~ do ki masu //

g—ﬁ@: IC = so, so much, to such an extent /

% < 7&% = <plain-style-nonpast-affirmative> of 3 < 72D £ 9 = become late

* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D X9 = become [noun] /

Z & & R\ = <plain-style-nonpast-affirmative> of Z & [&(HY) & D £ A =thereis no
fact that ~ /

& <quotation particle> /

%5 = <plain-style-nonpast-affirmative> of E\L\&E 9 g1 =think /

&, =1but 2 <used to show a hesitation>/

%75‘ &% - 1= 5 =if something happens,

* 35 o = = there was ~ = <plain-style-past-affirmative> of & D £ 3 g1 (there is ~, have,
exist) /

* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~

and | tell you what happened
[ZASY =1}

EFD (5 (T =towards a mobile phone, toward, towards, in the direction of a mobile
phone

E>

* 77 = 1 direction, way, side, area (in a particular direction) 2 side (of an argument, etc.),

one's part 3 indicates one side of a comparison /
& L To = less polite than 3E#& LT < 72 L\ = please contact (get in touch) //



| think that there is no fact that | will be very late, but if there is any problem, please let me
know by a mobile phone.

U . =then, if thatis the case /
& 5 U < =Dbest regards, please remember me, please treat me favorably, please take

care of /
o =....,isn’tit? ; ....., am | right? <confirmation particle> /

Then, please take care of the matter.
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D&> H<Ich
&Rl % 89 % = (The woman) checks the materials.

29 % = <plain-style-nonpast-affirmative> of #£F5 L & 9~ g3 = confirm, declare to be

* \

true; check, verify /

2

Lbh&> &<
X—)L T &®l%Z %% = (The woman) sends the materials by an email.
* %% = <plain-style-nonpast-affirmative> of %0 £9 g1 =send/

w

FWzWT A D nas5<
R EEEIC EI& I % = (The woman) contacts (him) by a mobile phone.

*

Ei& 9 % = <plain-style-nonpast-affirmative> of E#& U £ 9 g3 = contact, get in touch /

N

nnE Lp>EE
23T BE I % = (The woman) attends the meeting.

* HfE 9 % = <plain-style-nonpast-affirmative> of Hif& U £ 9 g3 = attend, be present in a
place /



